
I N S TA L L AT I O N  G U I D E
	

1B

AX00.091.800.A.SP

AX00.091.805.A.SP

AX00.091.820.A.SP

AX00.091.830.A.SP

AX00.091.855.A.SP

AX00.091.880.A.SP

AX00.091.885.A.SP

AX00.091.900.A.SP

AX00.091.905.A.SP

AX00.091.250.A.SP

AX00.091.540.A.SP

AX00.091.265.A.SP

AX00.091.260.A.SP

AX00.091.255.A.SP

AX00.091.266.A.SP

AX00.091.267.A.SP

AX00.091.269.A.SP

800X

805X

820X

830X

855X

880X

885X

900X

905X	
	

250X

540X

265X

260X

255X

266X

267X

269X

3/8 x 3-1/2” Wood lag bolts
                              

3/8 x 3-3/4” Concrete wedge anchors         
                                

#10 x 3” Wood screw to attach to wall 

#14 x 3” Wood screw to attach to wall  

      
                   

#12 x 3” Flat head wood screw  

1/2 x 2-1/2" Flat head drop in anchor 

#14 x 3” Wood screw to attach to wall/floor
(includes 3/8" washer)

M6 x 80 mm Wood screw with flat head(phillips)

M6 x 85 mm Machine screw with socket head 

M5 x 12 mm   

                              

4.8 x 25 mm

M6 x 10 mm

M6 x 20 mm

M8 x 25 mm

M5 Threaded Pop Rivet

M6 Threaded Pop Rivet

M8 Threaded Pop Rivet 

Attaches saddle to metal handrail - 2 per   

                              

Attaches saddle to wood handrai - 2 per

Attaches saddle to stem (Replacement) - 1 per 

Attaches bar holder to metal post - 1 per 

Attaches glass clamp to metal post - 1 per 

Attaches glass clamp to metal post - 1 per 

Attaches glass clamp to metal post - 1 per

Attaches glass clamp to metal post - 1 per

Round newel post mount - 3 per 

Square newel post mount -  2 per 

Round newel post mount - 3 per 

Square newel post mount -  2 per

Round wall mount flange - 3 per

Square cap rail wall mount flange - 4 per

Round cap rail wall mount flange - 4 per

Round adjustable angle wall rail fitting - 3 per 
Square adjustable angle wall rail fitting -  4 per 
Square wall mount flange - 4 per
Round wall Rail return - 3 per
Round side mount post bracket - 2 per
Square side mount post bracket - 2 per

Round wall Rail Bracket - 3 per

Square wall Rail Bracket - 2 per 

U Channel 90 degree corners - 2 per 

U Channel floor / wall mount (2500mm)

U Channel floor / wall mount (5000mm)

Standoffs / side mount post brackets - 2 per

Standoffs / side mount post brackets - 2 per

		

Quick#	

Quick#	 Part#	

Part#	

Description

Description

Application - Quantity Required

Application - Quantity Required

www.axiarai l ing.com

PARTS INDEX	

S Y S T E M  H A R D W A R E 

A N C H O R S


